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I 1 mwn: similar relationship between produce that is liable for nka and that which is liable for nwyn
a  Awnam any food which is liable for nra is liable for mawyn; but there are some which are liable for m wyn only
i Comment: the difference is vegetables and figs, per difference in general rules governing each:
1 Ano (71:R NRa) — that which is:
(a) 5218 excluding bushes used for dyeing
(b) 9o excluding 9pan
() pna o 15r7x excluding mushrooms
(d) nnws vyl excluding figs
(e) orpbv219p: excluding vegetables
2wy (R:R Mwyn) only includes first three criteria
ii  Exception: if there were bulbs (e.g. onion, garlic) among the vegetables, they are liable for nRra, per T:1 nRa
I Discussion — role of changed intent after planting, vis-a-vis mwyn avn
a  pnr /7 if he planted endive for animal feed and then changed his mind to use it for human food
i Then: requires new intent (for human food) after harvest
ii  Concept: he holds that 11an nawnn (intent while plant is attached to ground) is meaningless
iii  A37 support R:X MmNV — among characteristics of 1MV MY nba1 is requirement of intent (to be oTR 2IX) but not 7wan
1 Implication: intent while it is alive isn’t meaningful
iv  Dissent: Rt "1 interpreted X:X M7V as a case of a bird that fell from the sky (i.e. no opportunity for n»n nawnn)
1 Challenge (»3&): how would he explain the case of the n1>-chicken? (see below)
2 Answer: that was a wild bird (not around for o»»n nawnn)
(a) Response (of students): laughed at him — such a bird is xnv 91y — which has no nkmv as a nY13
(b) 7an: it was a domestic bird that ran away
(c) 97 it was a “lake hen” (per his ruling — lake-hens are 1mn; lake-roosters — 190R; mnemonic- N11NY 8 MNY)
(i) 70770 lake-hens are prohibited — the students saw one grabbing feed with its feet —which is a knv 9% 0
b 7:v.m70 Knooir if a bird fell onto a ny; if he intended to pick it up to give to a 'm> — RNV (=NRMV Yapn); for a dog — NNV
i Dissent: ™ 12 13nv "1 — even if he intended to pick it up for a dog
ii  Argument: if it can be Rnon a severe NRMY (NY’H2N NaR BIT1 NRMV) w/o intent, certainly it can be PY218 NRMV RNVM (OP)
1 Counter: NN NRMV never requires NaWNnN — can’t prove from there to 8", which always requires intent (v. 1)
2 Response: the “ma-hen”, which would require nawnn, yet they were xnon it without intent
(a) Defense: in that case, the local m> had intent (to eat it)
iii ~ Circumstance: couldn’t have been in a city — doesn’t require any nawnn (per 2:3 P¥p); must be in a village
1 However: all agree that v 91 nYa) requires intent in a village (where they generally eat meat instead) (ibid)
2 Answer (¥7pr 77): must have been in the city; falling into the ny made it “spoiled” and equated it (for this) to a 793
Cc X277 7Nv 1 concurs in the case of 1wyn that intent while it is Yp7p% 920 is significant
i Proof: v:3 mwyn — certain grasses in a 7¥n — if they are guarded, 7wyna ma»n
1 Clarification: must be planted for animal food (else, 211 is obvious) - and he must have reoriented intent afterwards
2 Block (»&x "): they grew wild — the default assumption is that they are for human consumption
(a) And:intent of pInwa - if they are protected (by the nature of the 7¥n) — pa»n; if not — P1va
it Challenge (»w& “7): from our mwn — these would be a counter-example — 7wyna pa»n but not susceptible to PY2IR NRMY
1 Defense (¥37): meaning of our mwn is “types” — no type of food is 7wyna 17n unless it is also subject to "o
2 Support: next mMwn — MINN 1PN encompasses MM NYWRI 21N, yet a 910 has 3”11 but not mann — rather, it refers to types
(a) Block (x8227): could follow w™, who rules that a N0 is exempt from »"m
3 Support (»wr 72 20w “7): R — if he is 1pan his vineyard and then harvests it — 2’n in y”inn but not 1wyn
(a) In spite of: our mwn (above) — that 7wyn always encompasses nra — rather, it refers to types of produce
III General challenge to the “telescoping ©’21’n” — naw (anethum — used as spice) is NR92 27N (2:3 NRA)=DIWVYNI 2N=DDHIIR NRNMV RNV'N
a  Implying: things grown for flavor are vulnerable to m%318 nrmw
b Challenge: n:x pxpw lists similar spices — all may be bought with 2wyn qo3, but are not vulnerable to 19318 nRMY per Y™
i 2727 must be consistent —and the final ruling is that they may not be bought with 1wyn qo3 (nor are they x"va xnvn)
¢ Answer (n79): 7:3 nRa refers to naw grown for 793 (mixed into nm> — eaten, not just flavored) (3" — default of naw - used in n2)
i Per: ruling that naw, once it has flavored the pot, no longer has nn1n 171 or X" =»beforehand, it does=»n"wy 7035 nno
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